
	Exercise 5.2

Check your answers against those in the ANSWER section.

The proportion of students at Pemberville University who own an automobile is 0.60. The proportion that lives in a dormitory is 0.20. The proportion of students that both own an automobile and live in a dormitory is 0.12. What proportion of the students either owns an auto or lives in a dorm?


	Exercise 5.3

Check your answers against those in the ANSWER section.

Suppose that Ford estimates that ten percent of F-150 trucks for model years 2003 and 2004 have a steering column defect.  Midway Ford is scheduled to check three F-150s for this defect next week.  What is the probability that

a.
three have the defect

b.
none are defective
c.
at least one are defective


	Exercise 5.4

Check your answers against those in the ANSWER section.

Ten students are being interviewed for a class office. Six of them are female and four are male. Their names are all placed in a box and two students are selected for the interviews.

a. What is the probability that both of those selected are female?

b. What is the probability that at least one is male?


	
	
	
	
	

	Exercise 5.5

	Check your answers against those in the ANSWER section.

Five hundred adults over 50 years of age were classified according to whether they smoked or not, and if they smoked, were they a moderate or heavy smoker. Also, each one was asked whether he or she had ever had a heart attack. The results are given.

a.
What is the probability of selecting a person who either has had a heart attack, or who is a heavy smoker?

b.
What is the probability of selecting a heavy smoker who did not have a heart attack?


	
	Heart Attack
	

	
	
	Yes
	No
	Total

	
	Do not smoke
	30
	220
	250

	
	Moderate smoker
	60
	65
	125

	
	Heavy smoker

Totals
	90

180
	35

320
	125

500



	
	
	
	
	


	Exercise 5.6

Check your answers against those in the ANSWER section.

A test on probability is to be given next week. Suppose 75 percent of the students study for the test and 25 percent do not. If a student studies for the exam, the probability that he or she will pass is 0.90. If the student does not study, the probability that he or she will pass is 20 percent. Given that the student passed the test, what is the probability he or she studied?


	Exercise 5.7

Check your answers against those in the ANSWER section.

The Swansons are planning to fly to Hawaii from Toronto with a stopover in Los Angeles. There are five flights they can take between Toronto and Los Angeles and ten flights between Los Angeles and Hawaii. How many different flights are possible between Toronto and Hawaii?


	Exercise 5.8

Check your answers against those in the ANSWER section.

Swanton Welding is setting up the shop for a new production run. Nine welding machines are available but only three spaces are available in the production area of the shop. In how many different ways can the nine welding machines be arranged in the three available spaces?


	Exercise 5.9

Check your answers against those in the ANSWER section.

A major corporation has branch offices in eight major cities in the United States and Canada. The company president wants to visit five of these offices. How many different trip combinations are possible?















































































































































Number	   Number   of	   of Adult 


Visits		 Males


	0	30


	1	60


	2	90


	3 or more	120


	Total	300





Exercise 5.1


Check your answers against those in the ANSWER section.


A study was made to investigate the number of times adult males over 30 visit a physician each year. The results for a sample of 300 were:


a.	What is the probability of selecting someone who visits a physician twice a year?


b.	What is the probability of selecting someone who visits a physician?
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